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Keyword kisuihou
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[ EZTHRBODEEZKDHELD] let’s find the age of brothers in kisuihou.
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< About children of the Edo period >
Playing=Koyumi, Toudomeguri, Ouma, Komamawashi, Hotarugari,
Onigokko
At the farm wvillage, children are over seven and they enter the
Kodomogumi
Which is divided the fixed age group. Also, they are over fifteen,
they have treated
as full —fleded members of society and stay there until they get
married.

How the birth is.
The average number that a woman gives birth is 4.5.
The childbirth term is 13.5 years.
There 1s many late childbearing.
A seven—days—old baby 1s named at night.

Event

The first seasonal of girls is March third and that of boys is May
fifth.Visitor who
pilgrimages to Ise Shrine is Nukemairi’s children that 10 years old
from 5 years old.
“Nukemair1l” names to go on a trip without saying to their parents
and their master.
There i1s a sensation such a rite of passage to be an adult. Drain
their bank account,
they had lodged at the house of a private citizen while on a journey
—on the road.

School
Terakoya was the from that school with flexible. It focus on “looking,
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Speaking” after children learn “reading, and an abacus”.

It was a state in who cannot read, write, and count cannot run his
family business

and social life, but there was not a compulsory education system.
Children learned from when they were 7 years old until they were
15 years old.

Terakoya was 1500 points in Edo.

It runs as a volunteer.

There many samurai who active in their children’s education, but
40% of teachers

are the common people. In principle, teachers are 40 years old or
older. There are

also women. Last part of Edo ear, the school attendance percentage
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I'here are 5 brothers. Total of ages are 116.

r

I'he age difference between the oldest son and the second son 1s 7 years.

r

I'he second son and the third son is 6 years. The third son and the forth son is 4 years.
The forth son and the fifth son 1s 5 years.

Answer

The oldest son 1s 35 years old. The second son 1s 28 years old. The third son 1s 22 years
old. The forth son 1s 18 years old. The fifth son 1s 13 years old.

How to solve

Put a 7 on the left and right. Add 6 of difference between second son and age of the
third son to 7 of the left and become 13. Add this to the right a d become 27. In
addition, the third son and fourth son add 4 of the difference of the year to 13 of the
left, too and become 17. A add this to the right and become 37. In addition, a add 5 of
fifth son to left 17 and become 22. A add this to the right and become 59. It becomes
175 when add this to the total of the age. The age of tee oldest son understands that
I divide this by five numbers of people. Subtract each difference from here
sequentially.

By the way, with upper method, put 7 in right and left and add it in sequence.
Divide this by the number of people in addition to the total of the number of years of

five brothers. It becomes all 35. Then subtract a difference in sequence.

%:04a #E

A

Y V]

SERORE » B

\

REEICERIEXICEREZMNITTLS
EXTHIEMNRRET,

S HOBE
DEEZET.IFFRATHEHENEELTLT, B
EICHEHANLN TS ZEIZELV -, ST EDHF
ET‘tL\');t‘ijﬁb?s %’Lfdfbd)f:tt\')uté
FAT=

=2T=MD T, $hEFELEL

=
=

Edo era.

S ik Jb

>F

IIInI

Adjust 1t and the age of the eldest son

Age of eldest son x
fourth
1 75+-5=35

+

age of second son+7 + age of third son+ 7+ 6 + age of

sont7+6+4 + ageoffifthson+7+6+4+5 =175

So age of fifth sonx = 3 5

Age of second son
Age of third son

Age of fourth son =

Age of fifth son =
Our elucidation

Assume age of fifth son x
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22— 4=128
18=o0=13

x + (x T RN ) (oD - 4 L6 ) (e SR ) — 1 1 6
oxXxtol—=116
OX =005
x =13
Thus, because age of fifth son is 13 years old.
Age of fifth son 13
Age of fourth son 13 + 5 = 18
Age of third son Bt d =22
Age of second son 22+ 6 =28
Age of eldest son 28+ 7 =235
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We have taken time for work to translate into English.it
1s important etficiently to work.

We were surprised that mathematics developed in the

We learned that mathematics was important.
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